Division par 10* (F)

Trouvez chaque quotient.

2,847 + 102 = 9,4 + 102 =
1,62 + 10% = 1,835 + 102 =
5,046 +~ 10% = 553 +10%=
3,4898 + 10% = 3,8+ 10% =
4122 + 102 = 7,4637 + 102 =
3,27 + 102 = 3,522 +10% =
6,5+ 102 = 9,45 + 10 =
8,784 + 102 = 8,4175 + 102 =
3,9 +10%= 9,5+ 10% =
1,1763 = 10% = 9,447 - 10% =
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Division par 10# (F) Solutions

Trouvez chaque quotient.

2,847 + 10%*=0,02847

1,62 + 10*=0,0162

5,046 = 10% = 0,05046

3,4898 + 10 = 0,034898

4,122 +10*=0,04122

3,27 + 10 =0,0327

6,5 + 10° = 0,065

8,784 + 10%* = 0,08784

3,9 +10%=0,039

1,1763 + 10> =0,011763

9,4 +10% = 0,094

1,835 + 10* = 0,01835

5,53 + 10%=0,0553

3,8 +10%=0,038

7,4637 + 10%> = 0,074637

3,522 + 10* = 0,03522

9,45 + 10% = 0,0945

8,4175 + 10%* = 0,084175

9,5+ 10%= 0,095

9,447 + 10% = 0,09447
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